TLabh L

Moltiplicare per potenze di dieci ( numero mancante

)

Nome:

7,111 x

7,017 %

7,166 x

7,221 %

3, 544 x

6,611 x

2,565 x

3,163 x

4,847 x

1, 628 x

=711.1

=017

=716.6

=7221

=35.44

= 661.1

=256.5

= 3163

— 4847

= 1628

Data: Punteggio:

1,913 x =19.13
5,437 x = 5437
5,209 x = 52.09
4,147 % = 4147
2,65 x =265
4,592 x = 4592
1,419 x =14.19
3,167 x =316.7
4,502 x = 4502
10, 538 x =1053.8
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@ . w g Moltiplicare per potenze di dieci ( numero mancante
4 d )

Nome: Data: Punteggio:
7,111 x 100 ="711.1 1,913 x 10 =19.13
7,017 x 1000 = 7017 5,437 x 1000 = 5437
7,166 x 100 = 716.6 5,209 x 10 = 52.09
7,221 x 1000 = 7221 4,147 x 10 =41.47
3,544 x 10 =35.44 2,65 x 100 =265
6,611 x 100 = 661.1 4,592 x 1000 = 4592
2,565 x 100 = 256.5 1,419 x 10 = 14.19
3,163 x 1000 = 3163 3,167 x 100 = 316.7
4,847 x 1000 = 4847 4,502 x 1000 = 4502
1,628 x 1000 = 1628 10,538 x 100 = 1053.8
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